Задача 1
Дано:                                      Решение:
m р-ра = 2кг = 2000 г.     
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w% = 2%                           
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___________                     m р-ля =  m р-ра – m в-ва = 2000г – 40 г.= 1960 г
m в-ва – ?                         
m р-ля – ?                          Ответ: m в-ва = 40 г., m р-ля = 1960 г.  

Задача 2.

Дано:                                          Решение:                                         
m р-ра1 = 700 г.             
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w% = 45%                      
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w% р-ра2  = 20%            
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_____________              
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m (H2O) – ?                     m (H2O) = m р-ра2 – m р-ра1 ; m (H2O) = 1575г – 700г = 875 г

                                        Ответ: m (H2O) = 875 г

Задача 3.

Дано:                              Решение:

m в-ва = 120 г.
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m р-ля = 1,4 кг =            m р-ра = m в-ва + m р-ля

= 1400 г                           m р-ра = 120 г. + 1400 г. = 1520г.

____________                
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w% – ?                            Ответ: w% = 8%

Задача 4.

Дано:                                          Решение:                                         
m р-ра1 = 150 г.             
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w% р-ра1 = 25%             
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m р-ра2 = 400 г               
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w% р-ра2  = 42%             m в-ва3 = m в-ва1 + m в-ва2 = 37,5г + 168г = 205,5г
______________             m (H2O) = m р-ра2 – m р-ра1 ; m (H2O) = 1575г – 700г = 875 г

w% р-ра3  – ?                   Ответ: m (H2O) = 875 г

Задача 5.

Дано:                                          Решение:                                         
m р-ра = 700 г.             m p-pa = 700г + 500г + 15г = 1215г

m в-ва = 15 г.               
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m (H2O) = 500 г           
[image: image15.wmf]%

2

,

1

%

100

1215

15

%

=

´

=

г

г

w

                               

______________                     

w% р-ра – ?                    Ответ: w% = 1,2% 

Задача 6.

Дано:                                          Решение:                                         
m р-ра1 = 200 г.             
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w% р-ра1 = 10%             
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m р-ра2 = 250 г              
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w% р-ра2  = 25%            m в-ваобщ  = m в-ва1 + m в-ва2 + m в-ва3= 20г + 62,5г +30г= 112,5г

+ m в-ва = 30г               m р-раобщ = m р-ра1+ m р-ра2 + m в-ва = 200г + 250г + 30г = 480г; 

w% р-ра треб =15%       
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_______________         
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m (H2O)                         m (H2O) = m р-ра15% – m р-раобщ = 750г – 480г = 270г
Ответ: m (H2O) = 270 г
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